Revision questions for AGM 2022

Use the scoresheet below as required to answer the following questions.

Scenario 1. Pitcherl (P1) pitches a walk to Batter 1(B1). While pitching to B2, the count is 2-1. The next pitch is
fouled by B2 on to his foot. There is a lengthy delay as B2 is assisted from the field. He is unable to continue. P1 is
also changed mid batter. When play resumes, it is P2 pitching to B10 and the count is 2-2. The next pitch is a swing
and miss. B10 is out. B3 hits the ball to the second baseman who flips the ball to the SS for the out. B3 is safe at 1°.
B4 hits a home run. Two runs score. B5 flies out to the CF.

Which batter is charged with the K2? B2 or B10?
Which pitcher is credited with the K2? P1 or P2?
How many runs does P2 get charged with?

Scenario 2. With 2 out and a runner on 3™, B4 hits a deep flyball to the RF. The RF drops an easy catch and the
runner scores. B4 is safe at 1°%.

Does B4 get a Sac Fly?
If there was only 1 out, would B4 get a SF?

Scenario 3. B1 is safe at 1°' on an E5. B2 hits the ball to the SS who gets the out at 2"* (UA6). B2 is safe at 1°%. B3 hits a
home run. Two runs score. B4 and B5 strike out.

How many runs are earned?
Scenario 4. Bases are loaded, none out. B4 hits into a GDP (4-6-3). The runner from 3™ scores.
How do you annotate the runner coming home?

Does B4 get an RBI?
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